


Ch o
Tho‘ose the righy alternative to make it a meaningful sentence nould -~ on her privacy
1 e ok — by nature but she does not like that a1y stranger >
D Salubnou& Interfere (2) gregarious, intrude
(3) lugubnous, lonely (4) garrulous, meddle
e ' s from the options
Fill in the blanks with appropriate words by choosing the suitable set of answer
i\;en below the paragraph. , - .
- ion ' ' original party Ol -
(11) ~Aualification as 5 (i) ____ of defection does not apply. If the orig A/ g he

L - _ . u
——— WIth another party and he either changes his political party as a con sed

merger. A merger is (iif) _ to take place only if not less than two-third of the (iv) _ of the
Legmlative party (v) to such merger. |

(D @) consequence (i) deemed - (i) members  (iv) merges (V) agree

(2) () consequence  (ii) agree (11i)) merged  (iv) deemed (v) members

3) @) consequence (i) merges N

(1i1) deemed (1v) members (V) 'agree
4) @1 consequence (i) agree

(iii) deemed (1v) members (v) merges
Which of the following is an ungrammatical sentence ?

(1) Hasn’t he repaired the vehicle yet ? '

(2) If I were you, I wouldn’t write this examination.

(3) Have they not been practising yoga since their childhood ?

been working hard meticulouslv for six +
(4) The team has , y Tor six months befoy :
project to the company. . - ' e.they Submitted the

i) The bill reduction in electoral expenges,
1

The plan ten percent growth in production.

(i1)
r the current year ___  more or |
ii) The budgt ood product; Of fess double turn-gye, than thay
| The company —— ag ' P 10n due to better PTOSpects of g, Of last yeqr
- (@iv) od (2) envisages (3) seeks Sarcane Productjop
(1)  increa®T , - @ rateq
| wing list -
N word from the follo . g list of w(ozrds, Wth‘h is correctly spej;
Choos¢€ capher olia ) Parcimonioys
(1) P ) (4) Obviete
FacetioV®
) .o question; four pairs of words are given, Find ¢, '
following om the Options given beloy - € worq ...
[n the aning & PIr whicp,
, ilar M¢ (2) intros have
or/dete tive 4) ent ng
(1) abbO”  ivelprosPee entice/lure
ec
(3) IE




10. Read the following job advertisements and anSwer the question

| Teaching Position Available

11.

12.

| passionate and = competent

(3 (A) - upstart, (B

s that follow -

SAP Graphic
Designer Required

A position is available
for a part time graphic
designer to join Hall
Mark  International.
You must be expert in
using various computer
programmes.

Z 35,000 per year

Sajram Airconditions Company
seeks  full-time front desk
receptionist. YOU must be :

- excellent 1n communication
skills .

IE competent in basic computer

skills

- versatile

Gandhi International School,
one of the top performing
schools is looking to recruit

teachers. You must be proficient
in English.

25 hours per week
(flexible times)
% 40 per hour

Plus bonuses

- polite and approachable !
Starting salary : ¥ 28,000

Which job offers flexible time ? .
(1) Allthejobs (2) Teacher
(3) Receptionist - (4) Graphic designer

Choose the right sequence of words to fill in the blanks marked (A) ’ (F) in the follOwing
sentences to make it a meaningful paragraph.

How quickly things change in the technology _ (A) .! A decade ago, IBM was the a\#esome
apd (B) _.King of the computer trade, universally _ (C) .and respected. A decade ago, two
little __(D) .called Intel and Microsoft were mere blips on the radar screen of the industr}gf | (E)

start-ups that had designed to make the chips and soft
ware for IBM’ |
computers. Though their products soon became ijn dizsery Standardss new line of personal

remained _(F) .children of the market leader. the two companies
(1) (A) - business, (B) — undisputed, (C) - f - .
(F) - protected. - cared, (D) - companies, (E) - upstart,
(2) (A) = companies (B) - d . . | ' . - '
: protected, (C) — p
(F)—upstart_ . usmess, (D) — feared, (E) — un dispute d,

) — feared, (C) - co - ‘
(F) - undisputed_ mpames, (D) - business,

(E) - upstarts,
(4)  (A) - business, (B)

— undisputed, (C) - .
(F) - protected. d “OMpanies, ()

— upstart, (E) — companies,

(3) eXON€ration 4 enunci ation
) Conviction



e pearly the same or

B3 In the g of which two words &% "1 4 indicate the

: . ' - ing an
. Tollowing question, four words are g1Vefh ™. osite 11 meaning <
OPposite in meaning. Find the two words that ¢ §1mllar Oiiggs
fumber of the correct letter combination provided In ey
A.  Possessive B. Dreadful
C.  Secretive ~D. Repugnant
(1) A-B 2) A-C
(3) B-C 4) B-D
14.  Choose the correct reanaﬁgement of the following jumbled sentences to make it a meaningful
paragraph.
A. Music is perhaps the most popular of all the arts and we find that classical Indian music
| continues its traditions. | '
B.

Both have deep traditions and changes only happen gradually.

C. For example, concerts are usually by a vocalist or b

. _ - y a solo musician in
instrument, with a minimum of percussionists. P laymg -

D.  Indian culture is rich in the arts - literature, music, dance
India, cinema and television as well

E. The two main 'types of music in India are the North.I

(1) DAEBC , (2) ABECD '
(3) EDBAC 4) DEACB

15. Match .the w?rds 1;1 TOlul-nn A’ with their b i
' the options given below : |

Column ‘A’ Column ‘B’

‘B’. Chc j -
Choose the right aswer from

i) Punctilious b. Inpeccable
; Cc. Murde
(i ii) DO gmatlc rous
. Reprehcnsible d. Pontifica)
(iv) & Viitybad
@ @ @
' q C
(1) b ‘ b d
QN * Z a ©
3 ° i e
@ ° y
tl spelt word fl'()m thE
C100se the mco:l-;ec y ftlliowmg set of worgs
16 ) orrONEOUS g ( ) demurrage
(3) Mqumntan 4) ma.ﬂﬂ()uvre
pil |




17. Match the following deﬁnitions ‘With their oné-word substitutes.

A. A place in a large institution for the care of thoseé who are ill

' - i Infirm
B. A line of descent traced continuously from an ancestor , alary
] . " iii. Genealo
C. The art of effective Or persuasive speaking or writing - . gy
' iv. Rhetoric

D. A person who draws or produces maps
A B C D

1 fiooi i

@ i i i1V

3 i i v 1

@4) i i v 1

18. Choose the right matching of the synonyms to the four words given below :
| (1) Arbiter. | (A) Unconcerned
i) Blithe  (B) Thrash
 (iii)  Flail (C) Controller .
(iv)  Zeal (D) Fervour = Ny
@) @) G av)
(1) ©) A O B
2 ) @A) @ (@D
3) A ®) D (©)
4 B A O ©

i. Cartographer

19. In the following _questioﬁ; four words are given, of which two words are nearly the same or
opposite in meaning. Find the two words that are similar or opposite in meaning and indicate the

number of the correct letter combination provided in the options.

'A.  Shambles ~ - B. Flexible
C. Perodic D. Organised
a BC (@ BD

(3) A-B . . (4)  A-D

20. Pick out the most effective pair of Words from the given options to make the sentence

meaningfully complete. .
The Prison guards degraded theiriselves with ﬂ'_“"i" - and treatment of the PﬂsonerS- '
(1) surreptitious/overt (2)  inhumane/ignominious

(3) differential/regal - (@) cavern/fantabulous

. = U o . .



21.  Which of the following is in ascending brder ?
208 TS’ e85 (E00S GO0 IO ?

. 113
1213 2131 1321 5y o
M 5777 @ 7342 O FET2 &) 7524

22. In a joint business A, B and C invested capitals in the ratio 5 : 6 - 8. If the ratio of the shares In

their profit is 4 : 3 : 12, then the ratio of their periods of investments 18

2.8 BB yersos’ A, B,Cen 5:6: 8 DAIBS DEPDEDEND DT, ergfos’ &0
TErO DY B 4:3: 12 ©S 0 DEYDEHID DES Fere DA)S |

(1) 25:18:16 2) 2:1:3 (3) 5:3:12 (4) 8§:5:15

23. A person left a city P to city Q in a car at 8.00 am. He travelled at a speed of 90 km/hr f(_)r
3 hours. After that the speed was reduced to 80 km/hr. If the distance between the CIti€s 18
510 kms., at what time did he reach city Q ? '

SOrBoerd. Botk HEHIVO H; ErE 510 8. eowd A0 Q & S

- B0 DA O _ .
(1) 2.00 p.m. & e ™ (2) 12.30 pm.
(3) 1.00p.m. 0\.0 Q} (4) 1.30 p.m.

24. The average weight of A, B and C is 65 kg. If the person D joins them then the average of
weights of those four persons becomes 70 kg. The average weight of B, C and D is 75 kg. Then
the weight of A is (in kgs) '

A, B 8050 C T3 Qfen 225 65 S D o3 358 O OV & SeniHd Difew
2809 70 ST 595008, B, C 208050 D © Hien 80 75 .. @%pC A 3308y 280y

@S

(1) 70 (2) 35 (3) 60 4) 65

A man observes the top of a pole of height 15 m with elevation angle 30°. The height of the man
:s 1 m. The distance between the man and the pole in meters 18

2,E¢8 15 . DEIO O GEE ST 307 383§ F0E TIRDT™Y K. 5B Jekd
s eS8, 20208 $0055 fe> ErESN ess

14 16
ORIy (2) 15\3 (3) 143 @ 7

26. A clock was started at 12.00 noon. When the time is 4.30 p-m, the hour hand has turned thr ough

the degrees ,_ I
xAOSTB0D  Hgrear)0 12.00 Hotrers DE0DOTE.. HSo30s
::go @O))ézajdh), K0E)E) DV 3088 &Lﬁ@ @“Cﬁ)OLéO

1) 135° (2) 95° 3) 110° - 4) 120

s




27.

28.

- 29,

30.

31.

32.

33.

D11

fa‘ closest approximation to the prodyct 0.3333 % 0.25 % 0.4999 x 0.125 x 24 from the following
1S

ga @gé TS 0.3333 X 0.25 X 0.4999 x 0.125 x 24 WL 2.8 S0 OND B WO
) .

D7 2 3 (3) 21'1 4) -é- -
11 11

NS -\B \B-\T N7 =V6 6554~

() 5 2) 0

(3) 31; _ ' o @ 1

The least number which when divided by 20, 25, 35 and 40 leaves remainders 14,' 19, 29 and 34
respectively 1S

20, 25. 35 B0 40 ©TI 2PAOL™ SKDM™ 14, 19, 29 HOOKD 34 Farewr e eedsoe
;‘DK:Q QO ' |

(1) 1894 | - (2) 1094
(3) 1394 T4 15%

If 2 2420 are divided among A, B, Csothat A:B=5:4,B:C=9: 10, then C gets
22,420 A, B,C O A:B=5:4,B:C=9:10 @35 H008 &Sy C FoBo

(1) 900 S (2) 720
(3) 800 (4) T840

Among 1100 boys and 700 girls who have appeared for an examination, 42% of the boys and
30% of the girls passed the examination. The failed percentage of the total is

L& HEEZ FEDS 1100 2rentd, 700 rOseS® 42% 2rendd, 30% wrd¥en GSHTO.
@ INBoS’ $DYS dargdhHeo TS0 '

2
(1) 63% - @) 613%
® 5% @ 6257

The number of primes between 10 and 50 that remain primes when their digits are reversed is
10 S0800 50 © Hse HFTOSOS, TESV ©ote FTOLH 588D
(DGrOSOTDENT ey ¢35 HOS

(1) 6 . 2) 3
3 4 4) 5
' : ! igit in the 7000™ dec; :
In the decimal expansion of =000 the dig! decimal place is
o5 T &P0F DY 7000 $ STOF TS e wos
(1 1 . 2) 7
3) 2 4) 4

[S] * 9.



ality test, then he will

piece. Accord:
r :
- nents were rejected.

g to his estimate, even if 5% of the supply fail to pass the qu

I’;‘lhake A Profit of 25%. However, as it turned out, 50% of the supplied compo
€ loss to the .

OOLONNY. eyt A )BT IS S8R0 . _
1) 212,000 (2) 15,000 (3) 214,000 ) T13,000

3S. A certain sum P amounts to 29,400 in two years and to ¥ 34,300 in three years on compound
Interest. Then the sum P is (in rupees)

| S0 ring P 00t 2058008 SESES SO &7, 29,400 $,605 S0 OIS TS
DESQS’ §O & 34,300 @©0000. 235,C) 8 &radd) P (ErarohoS)
(1) 22,600 2) 20,000 (3 21,600 (4) 25,600

36. A and B are at points P and Q respectively. The destinations of A and B are Q and P respectively.
Both of them started at the same time in the opposite directions on the same route. After some
time they met each other at the point R. A and B take respectively 4 hours and 9 hours to reach
their destination from R. If the speed of A is 48 kmph then the speed of B (in kmph) 1s

A 358050 B €0 SEXM™ Docgen P SH805) Q © & aar) S, A SHO0 B © 33sy

KSreen SEDT Q DO P. FOHIS ¥ SH0rdE ¥ Srgos’ $BBE OIS’
2305 NTTE. 0 DT’ 7% oY R 9% EenHHT) . R HO& A, B & a0

KIS TETRE SEIM 4 KoLEeD, 9 KON HHANO BETLE. A B0 KOS
48 8.5, ©®0nd B S0 (K050 8.00. o) .

(1) 46 2) 72 (3) 39 @) 32

37. Shekhar started a business investing ¥ 25,000 in the year 1999. After one year in 2000, he
invested an additional amount of ¥ 10,000 and Rajeev joined him with an amount of ¥ 35,000.
After another year in 2001, Shekhar again invested another additional amount of ¥ 10,000 and
Jatin joined them with an amount of ¥ 35,000. Rajeev’s share in the profit of ¥ 1,50,000 earned at
the end of 3 years from the start of the business in 1999 is |
5056680 1999 S 25,000 EPDAS’ FPB 2.8 T 0R), [WPE0DOTD. 2.8 H0Se8 380
SO° ¢ 2000 HOBSIE0S” D @SSO T 10,000 DEPDAT DTS, B T 35,000
2epAS TAS 988 EOVD. HT HosS B0 ST S 2001 FPE HP eSSomr
4 10,0(;;)6 d@ggn" gi??g) :13‘56?136?5“%5,000 "oae.pa)éé‘ 2R S a»@”g 224
1999 F SO0 (G O OB QT NoSSYT'® DS |
ey230 ¥ 1,50,000 OS T°ED TEF O &odd Sweo

) T50000 (@ TB00  (3) 235000 @) 240,000

38. Three persons A, B and C have started a business with a total investment of ¥ 5 :
invested Y 40,000 more than B, while B’s investment is ¥ 50,000 more than that oi‘a(l;hif In this A

ot thi“aygr-endAmeﬁt e o s the share (in rupees) of A in the profi is

SnhEd Sgpen A, B, 20 &r. 5 ofe PWAEE Fr>rdo

oS A 83 S8 B S0 87 40,000 DKoy Depa® DT B rEodotT .

: DDA C epad o
5. 50,000 d0xS. QONSIT0S ergioes B aper S 25,500 eond
it HS) , ®OHS' A JTET

(1) 35,500 (2) 18,000 (3) 21,000 @

- - L8]

the share

31,500

iT.Aa T



39.

The ratio of number of employees in the technical section and the management section of a
company is 7 : 2. The average salarjeg of employees in the technical section and the management

section are ¥ 25,000 and R 47,500 respectively. The average salary of employees of these two
sections together is (In rupees) |

2.8 HOPS'D FoSSE Dzt Ativer Hogg, DB 5 e SESHO Hows Toky, DB
7: 2. 0888 D7l BEHHO Hifen Ao 005 AT Do AESHS Bk Ao,
ST G, 25,000 DOAW & 47,500, & Boks AFTrOS aliHe 5O Hifew #do

(ErarohHed)
(1) 30,000 (2) 40,000
(3) 37,500 (4) 35,000

Three persons A, B and C respectively take 30 seconds, 45 seconds and 60 seconds to make one

round around a track. All of them start at the same point P on the track. Then match number of
rounds made by the persons in the List-I as given in List-II when they meet again at P.

28 DYTY ey &8 tHEY SSHErE A, B, C T 535en S8 30 ED, 45 DED,

60 VEN S0B0LTD. 8 27D 28 DODY P S PE0SEr HERSE0 (E0DoD),
8er o8 Doty 5@ 2DE-1 S'Q S5EHen TS tH&Y eI S Ber)o. DD 236

(o \ole 1
List-1/200w -1 List-1I/200er-11
i A (a) 6
(a) B b 3
(iii) C ) 4
(d) 2

The correct match is : / Q8T DSITFFVO
@M A @)

1) (@ () (@

2 @ © @

B) @ @ (@®)

4) (@ (c) (b)

41. The average Salary of all the WOrkers in a faCtOI'y 1s ¥ 15,000_ The average sa]a_ry of 12

technicians is ¥ 18,000 and the average salary of the rest is ¥ 12 000. Then, the total number of
workers in the factory is

2.8 s8OS’ 0SS DT DD Sémvd“ 15,000. @90cseS 12 %08 B A0DHS®
O BB S 18,000, BN MAT DVTE Hifen essn S 12,000 YD &

r556S' ), B0 HAT 0, - L
(1) 28 2) 20 / \ ¢ -
3) 22 , 4) 24

P11 . [s] 11-D .



42. s earnings in

‘Ramy arns in July thrice as much as'in each of the other months. The ratio of hi
me to the annual earnings is : o '

~ TPan08 2BS’ T 8T0H0 Wife® 1HS S $T) eoirdS
28BS’ NTI,) STPONO, N0 B0 BS0 BSTOLO® AA ) .

(-1) 3:11 @ 3:12 (3 3:13 (4)

45860 08, BSS

3:14
43. . If the population at

From a town. 10% of ion is miorati ri us reasons every yeat
, 10% of population is migrating for vario Ky  the town (in lakhs)

Ehe end of three years will be from now 96228, then the present population
1S - |

DY SOOI 2.8 DLOS (NS D0IS B 10% OB NTOTY 3@3.355:;9)- '5;35363
AOC 8eS DOSSIT0$0S &8 DD T8> 96228 GOENOB. OV (DN JPED

C BT (©8F) | |
1 132 @2 112 3) 1.22 (4) ~ 1.26
44. Match the following questions in List — I with the corresponding answers in List —II :
List - 1 List - II
(1) . What percent.of 50is 2 ? (A) 4%
(i) What percent of 3 is 5 ? (B) 1200%
(iii) What percent of 7 is 84 ? (C) 2%

(iv) What percent of 6.5 litres is 130 ml ? (D) 150% | |
D - 1S (HFOK DT - 11 S’ DO ASTFEISNOS 23S0,

e -1 ‘ Do - 11
() 203850 dos TS0 ? (A) 4%
©o() -%-eS‘ DO ?éo% ©59S008 ? | (B) 1200%
(i) 7 Doed TH0 84 ©HSOR ? ©C) 2%

iv) 6.5 O.0 o0& T$0 130 W.O. ©Ys0d? (D) 150%
@ @) @) Gv) | '
1) @A) © O @
@2 @A O © @)
3) (D) A B (©
; 4 @A O B © |

45. A sum of ¥ 2,600 is divided amongst P, Q, R, S such that

P’sshare Q’s share R’s share -3

" Q’s share ~ R’s share = S’s share = 3

“Then P’s share 1S | |

Paréy QaF¥er R&EX_2
Qoer  RFer STer I
3yt P B8y TET
(1) T340 ). X280 3) 2300 (4)

PAL e ' [s]

12-D




46.  Natural rubber is polymer of

(a) Ethene (0)  Isoprepe (c) Acetylene
(1)  (a), (b), (c) (2) (a)only
(3)  (b) only (4) (c)only
DB S2)S” &0t 58
(8) &BS ®) DHES ©) SROS
(1) (a), (b), (c) - 2) (a) SPS$D
() (b) S (4 (¢) SrSD>
47. Which of the followmg are poor conductors of heat ?
(@) Pure water | (b) Iron
/l.7 () Air | (d) Steel
“ A1) (a), (b)only (2) (a)only
- &O (3) (c)only (4) (a), (c) only
& (808 TS’ AN VIO BRATETSEY) ?
o) HIDS A& ' (b) RSB
) ™ d NS5
(1) (a), (b) STSD @) () XS D
(3) () SrSD> (4)  (a), (c) (S
“Acid rain” is caused by the presence of oxides of X and Y in air. X and Y are respectively
(1) Lead, Mercury | (2) Nitrogen, Lead
(3) Nitrogen, Sulphur (4) Sulphur, Lead
ggé‘ X 000 Y © es5)8en0hed SO “@sD 580" 831506008, X SH8a5) Y e
QT
(1) BE Syed 2) BES=S 36
3) - BIEBS, Sey5 4) Je)5, B8

49. The solutions having basic character from the following are :
L Lemon juice
i1. Washing soda solution
iii.  Vinegar |
iv.  Milk of magnesia

V. Coffee
808 T8 ¢ 9800 Ke> (FSeTeD
. Qo OO
i, WO FI |Se0s5m
i, 008
V. ;beSzr B DAY NS
V. 5" )
() WV (2) ii,iv (3 i, iii, v (4) i, v

P11 , [E 13D



S0, |
Pick up the wrong statement of the following

S1.

P11 ;

(1)
(2)
(3)
(4)

(1)
(2)
(3)

(1)
(2)
3)
(4)

(1)

The density of water is maximum at 4
The velocity of sound on moon is zero.

Light year is the unit of time.
Cream is separated from milk when itis C

oC temperature.

& 808 QS 85D T ssed HOooA.

4°C &rgfiies 3¢ D8 RroleSes O

S*oe cooéégézm OIO S°o;’m<65\> Looéreaé»
4) Jod DOESHH S0 B0, A8 S°EeaSn 8 go(¢ .

Pick out the wrong statement in the followm g :
When light travels from air into glass its frequency changes.
Cadmium rods are used in Nuclear reactor to control nuclear fission.

Steel is more elastic than copper.
The audible limit of sound of human ear is 20 Hertz to 20000 Hertz.

& 1808 S HOTR T8 HO0H0A. -
508 O OB eS8 (DAFBoDNY TR 9S50 SFES08.
2) Fols¥ BAIrEES” T DIV ©CHY TONTAE A 10HD0 EBe T e .

(3) TN 50T &H0) e FDES DB

@) N TD DS S 55D HOA 20 28 Sod 20000 Tr8F.

Match the following :
List - I (Physical Quantity)
a. Surface tension

b. Impulse
c. Viscosity

~d. Pressure

1808 3°¢3Q BSJDEL0C.
Do - 1 (T 8¥ 0°2)

a. eHereddsed

b. (DS

c. o)fed
d. 9SS0

Correct match 18 :

HOTS TG -

a b

(1) i iv
(2) 1v 1
(3) i 11l
(4) il U

1
1V

List - IT (Unit)
1. Poise

i, Pascal

1ii. Newton/m
1Iv. Newton-sec.

2D - 11 (L:mrma&n)
L Jrowes '
)5
i Srgeaeso/a.

V. Qrgeradd- 2o

il
111

1V

14-D



53.  An observer looks at a tree of height 15 m. with a telescope of magnifying power 10. To him the

tree appears . _

(1) 15 times nearcr (2) 10 times taller

(3) 15 times taller (4) 10 times nearer *
15 2. DA TIEPAD, 2.8 S8, BIQ30 10 K BIrEN8NN AITITNOD KHOTI.
D8 & TE ) '

(1) 150&D SRO™ SADNOR. = (2) 10 BEY ST EIDYOA.

(3) 15 BY BI™ EQDQ0A, (4) 10 BEY SHSM EADOA.

'§4. Match the following : +

List-1 List - 11

a. Dalton i. Laws of motion

b. Newton ii. Atomic theory

c. Faraday iii. Theory of relativity

d. Einstein = iv. Laws of electromagnetic induction

& (808 TR 2SIBW0A. '
2o -1 Do -11

a oS i 50 Qohdren’

b. &t . i, %8S a)m;oé <33 ‘
c. 6T il 08, VEosdn
d SVS  iv. DISOHA0 (5880 Hr(Eren

Correct match is : / O3 &' : \
a b ¢ d

@)  iv - iid i i
(2) 1 1i 1ii iv
(3) 1 1 1\ il
(4) il iv 1 1

Assertion (A) : Ifa body moving in a circular path has constant speed, then there is no force

- ~ actingonit. | '

Reason (R) - : The direction of the velocity vector of a body moving in a circular path is
changing.

(1)  (A)and (R) are correct and (R) is not the correct explanation of (A).

(2)  Both (A) and (R) are wrong. -

(3) (A)1s wrong (R) is correct. . bl

: (4) (A)and (R) are correct and (R) is the COITeCt €Xp ana on of (A).

| SOTES(A): 28 Symss SrowS 80h 399 PBIA 0N A, TR

’ 20850 HATODED.

RN R T Ty R e --—-—_-- T . T T et g, gt P = - =
4 M
il
o

- '-'. - —_— “—F—.' T

SEEOR) ;o8 Symes Srgod HOOT S W HAK &Y Sreodd
(1) (A) D8 (R) 2)6 BONPD, DHOO/SD (R) BHIA (A) $ HO oS A el>
5.

2 (A) DO (R) ebisy.

(3)  (A) Sy (R) 58 e00dA. | .
@) (A) D8 (R) 588005, S0P R) I (A) 5 58 ecwd SSO8.

. _ 15-D
— @




36. Match the following :
Listf—- I List - 11
4. Electric charge i.  Farad
0. Electric fieg ji. Coulomb
_ €. Electric potential iii. Newton/coulomb
d. Electric capacity iv. Volt
| 2 1808 639 25DEB0E.
2D -1 ' Do - 11
4 DS eI T o o
D.  DegS F e i, Seroaw
C. DS FJOHS il Sreersy/Soero
d. DS TI2e8 iv. 2,6 |

The correct match is : / HOTS 54 -
a b C d

(1) v i i i
(2) i 1V 1i 111
(3) i 1 iv
4) il ii 1 1V ~

'57.  Match the following :

List - I List - IT
A. Litmus (Dye) - b Conifers
B. Agar-agar (Jelly) II. Lichens
C. LSD (Narcotics) III.  Algae
D. Turpentine (Solvent) IV. Fungi
& (808 T BSHEHSW.

2o -1

A. O (@PBoz50) I.
B. a0)f® @O) L  B8Sew
C.  LSD (Srcs8(638950) ML Zseweny
D.  ¢B)0BS (75l V. 3Oozren

Correct match is : / QO 4
A B C D
(1) 1 IV I IIT
2 I 111 IV |
(3) I IV 1 I
@ v I I

P11 .ok @
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- 38.

- 59,

60.

P11

Match the following : '
~ List-1  List—@
A. Lipids B Orange
B. Carbohydrates 11, Sunﬂower
'C. Proteins iii. Soya
D. Vitamins iv. Ragj
- &80 T BSHIOWOA. '
AL I '
A, Ol i,
B. s8)ar@Ow i
C. |¢8Se» .
D. D&MD iv,

Correct match is : / DODS & :
A B C D

(1) 1 1 1 1V
@ i iv i i
B3) i iv i i
4) ii iv il i

Which of the following represents homogenous scientific group of animals ?

(1)  Hen, Duck, Goat, Sheep (2) Man, Orangutan, Gibbon, Monkey
(3) Bat, Pigeon, Duck, Hen - - (4) Crab, Fish, Prawn, Whale '
&3 1808 TS’ O 28OSO DD A QO QAT R), AP0 ?
(1) SADY, wredo, g, 7B (2) Srdaych, LBofiers, 827)S, §'a

(3) D)0, DY5S0, vk, S8DE (4 58, T, S, Bvotiero

Which statement is correct with reference to the role of UV radiation in water purification ?

_(1) It removes harmful chemicals.  (2) It adds taste to the water. .

(3) Itremoves small particles. - (4 Itkills/inactivates micro-organisms.

580 DD S’ UV S8eme8d HODOPODS KBTS & 5ap5e%> MRS,
(1) SREERS Sroharerdy SO0,

2) V88 H0D BN OB OW.
(3) O8N0 Krg BenHOD SOAOTIWD.
@)  OTELEHOS S0DE/BTSOY eV

- 17-D



crops in the same field in sequcntiﬂ] seasons is called

61. - ' : nt s of .
The practice of growing different tyP® tis NOT correct with crop rotation:

as ‘Cl'Op rotation’. One of thc_ ft?llowing aspec
(1)  Increased crop productvity:

(2) Depletion of soil fertility,

(3) Reduce the disease incidence caused by pests.

4 C 1 of weeds. ;
28 E.Le‘;)gtg %dt: 2%y 557 DO 2,500 ST b 2,583 Léérrﬁna’rdo HOROEN)

‘AN S0 YA otrd. & 1508 TS 2.8 ®0F0 dDY SrBHIAS JnADG OSNORED.
(1) POTOHO ©AENSEO. 2) T JBI0SS SHE.
(3) D& Hse S0 3T Te0 SHE. @) ) I AT,

62. Ecological pyramid shows the number, energy or biomass at each trophic level. Generally
ecological pyramids are upright. However, one of the following pyramid 18 snverted’. Identify.

(1)  Pyramid of energy of sea ecosystem.
(2) Pyramid of energy of grassland ecosystem.
(3) Pyramid of biomass of forest ecosystem. |
(4) Pyramid of number of tree ecosystem. | |
HA AL row (trophic level) S'Q AYe Ddopg, & BE 23073 83080 DO
AOT O, ACEROT G360 HEMWBe VEFEHT (upright) GOLFOD. TR & 500
HEDBOS® 2,568 S 8oden (inverted) ™ GOLNOE. AN HEODOR. - |
(1) DIANEDY BSEE 3558 D0DOHONS 3S DEA. e
2)  HDIE DOHEN BISE S539E0 DOVOHODS FE DBEK.
(3) ®E8 BI85 SINDE DOROHONN BIT*Z DOWE.
(4) T 83589 S3IDE N02OHOAN DOP§ VBaNE.

. Which of the combinations represent human blood ?
(1) -RBC, Lymphocytes, Eosinophils, Chondrocytes
(2) RBC, Lymphocytes, Eosinophils, Basophils
(3) RBC, Lymphocytes, Astrocytes, Osteocytes
(4) RBC, Lymphocytes, Chondrocytes, Astrocytes
I799 e 85708 HoDOHODN DRNEN0 O 7
(1) RBC, DogFpSen, 228n8en, gro|d péied
(2) RBC, o Sen, 30 e, 2rfpden
(3) RBC, ©os Sy, e@?:ﬁm, ST
(4) RBC, &oFe5en, 7708 ey, & §FRdden

64. Read the following statements and choose the correct combination :
A. Typhoid is caused by bacteria B. Common cold is caused by virus
C. Malariais caused by bacteria D. AIDS is caused by.a virus
(1) B&CarecorrectbutDiswrong. (2) A & B are correct but C is wrong.
(3) C&D arecorrectbut Aiswrong. (4) B & D are correct but A is wrong.

&1 (808 [DSVT O B0HS0 TR NOTR DED0YD HBohod.
A Borans 2ri00sr S0 SN0,

B. rorde 23020 B8R SO SDod”

C. B0 rs80sr e 3008,

D. S 2,5 BV SO SN0D.

(1y” B, C 503D 5 D 8T ¢,

(2) A, B S0P 'R C HOPID s°¢v.

(3) C,D OO 5 A QORSA 5¢.

4) B, D O8R5 A SO s,

5]

n




65. Read the following statements : | - |
(a) Leaves appear green in colour because they do not absorb green light but reflect it.

(b) Development of forests in areas where previously forests existed is known as
‘Afforestation’.

(c) Carbon tetrachloride is an ozone depleting substance.

The correct option 18 :

(1) All (a), (b), (c) are correct.

(2) (a) is correct but (b) and (c) are Wrong.

(3) (a) and (c) are correct but (b) is wrong.

(4)  (b) and (c) are correct but (a) 1s wrong.

(b) @0osH JO5
. (Afforestation) @ OETD.

© S6)SBErEDS, LESD rod HIeo;
DO Y50

(1) - (a), (b), (c) ®R) DOT. -
2) (a) SO 5°N (b) O (c) éb@éz) 5.
(3)  (a) OO (c) NOTORD 5 (b) HOTDSE 5*EN.
@) (b) HOA (c) HOPSD SR (a) HOPWSS .

66. Quinine; the drug used for malaria treatment 1s obtained from this plant

(1) Bael (2) Aswagandha

(3) Belladonna (4) Cinchona

SFBBATS SOH0 FoHTE AHBTrAOT §5TS TALH0 & D0EY DO OFFNYS0Q.
(1) &Srodh 2) e300 £

3) BT @) Do

67. Read the following statements :

(a) Sudden and heritable changes in plants or animals are called as ‘mutations’.
(b) Amla fruit is rich source of Vitamin ‘'C’.

(c) Alexander Fleming discovered Penicillin (antibiotic).

The correct option is : S

(1) All(a), (b), (c) are correct.

(2) (a)1s correct but (b) and (c) are wrong.

(3) (a)and (c) are correct but (b) is wrong.

(4)  (b) and (c) are correct but (a) is wrong.

81508 IRDIVT O 8550080 TAHOB.

‘A58 36D’ B0sFSD, ©DIES50 ToSHON Srdd O

Eb; ;‘%6? Ebg'bc» gbég HBSr0S ;):33:3)5 CQ 55 &yoéron

c OB DOK D e\ .
- a)a,)§§n@ )OS (803005 ¢8E) & Sy .
(1) (a), (0), (c) ©), HOTI.

(2)  (2) PORAA 5 (b) O (€) HOPAD 5%y, ~

(3)  (a) DBAW (c) HOTHID TV (b) HOPIA .

(4)  (b) OBAMW (c) HOTpID 5D (a) POPIA S,

Pll | B] 19-])*














































2011 Census and Socio .
A. The percentage of urban population to

in India.

B. The percentage of decadal population growth rate during 2001-2011 was also more In

Telangana when compared to India.

C. The sex ratio of pOpulatibn in 2011 was mo
D. The literacy rate of population in 2011 in India was more when compat

E. The density of population in 2011 in India was less than that of Telangana.

2011 T2y HErosTen HOAN ‘AFATTT JESWS 7500k - 2018’ ©OHOD T T OO0
SEOT BOOTD SO0 rES$TIoRn Howofod SO0 NIBDON (0T W)

58300k : |
A. 2011 H0383508 Inso s He BTeT TS0 POS
D50 ST GOR0D.

B. 2001-2011 &7 SO 3T )@ Otn Fdo S 385508 FO)
8.3 oo, 33

C. 2011 &' 2xerS ol QNS rESTF0S o BeOrn SN B0,

D. 2011 & &% 070:e Bew Boomas FO B ordS$BioS JF0 ST SOR0B.

E. 2011 & saver Sroldds Boome $08 2r8sBiod $5Sm sodod. -

Choose the correct answer : / DOTDN 220D JODE TADOK

(1) ABCD&E (2) A,B,C&E only

(3) A, C and D only (4) " B, D &E only

re in Telangana than in India. |
ed to Telangana.

B0 o BoornS'

% 8o

. In retaliation against US announcement imposing tariffs on steel and aluminium items in March
2018, India notified higher tariffs on items imported from the US which include : '

A. Almonds, apples, walnuts

B. Phosphoric acid, boric acid

L 800 CC (or more) motor-cycles

D. Some grades of iron and steel

5783 2018 S &%), GOFIDACH0 VPO NOS) IO GO SNKS)
DEOSTAE $38BLor (HNATE0S’ IS Hod AHHA TWHT 808  SYYOR:
27 S5SBE0 ©HE NOSTOND (D5E30N0A 7

A 230, DN (IS, S8 @ EEY)

B.  rar)05 ado, 505 esdo

C. 800 CC (s0805n @085 o) Jrerdd DEW
D. R0, B85 o000 §R) Isen (186,
Choose the correct answer : / O 2677200 D0NE DOHOAD :
(1) A,B&Donly "~ (2) A,B&Conly
(3) B,C&Donly (4) A,C&D only

H .



109. Arrange the names of the following Speakers of | ok Sabha in a chronological order of the office
they held : |
a. K.S. Hegde b. RabiRay c. Balram Jakhar

d. Shivaraj Patil 3
808 HrDoHDAS S'S OB R)EQ DA SO D(E00 eS0T @D HYO :

a. S.00.27] b. 3DT c. 2000 250

d. 330725 re3d e. .. NOM
Choose the correct order/answer : / QO S (e 0//233°20 DoDE oo : -

(1) acbd&e (2) a,d,e,c&b
3) c,a,db&e 4) c¢,b,a,d&e

110. Examine the following statements with regard to office of Speaker of Lok Sabha :
A. Neelam Sanjeeva Reddy was Speaker of the Lok Sabha twice.

Speaker of the Lok Sabha always comes from the ruling party.
K.S. Hegde was succeeded by Balram Jakhar as the Speaker.

B.

.

D.  The Protem Speaker of the 16™ Lok Sabha was Jyotiriditya Scindia.
S'E25 45188 HEDE 5020000 806 Asdne H63D0S0A ;
A S 5188 oo H0AS BY Both B HARS' OB,
B. oSS o8 o) ITe 058 20 8228085, ~

C. 20T 288 BN, 3] S £IE8 HAI DS LroT”
D. 16 &' 25 (D YEOM EBodss DOSHAST S53:TB0T.
Choose the correct answer : / QO AITTTR), DODE ToHoA

(1) A&Donly " (2 A,C&Donly

(3) A,B&Donly | 4 A&Conly

111. Which among the following are guaranteed by the Constitution of India ?
A.  Freedom to move freely throughout the country
B. Freedom to assemble peacefully without arms

C.  Freedom to own, acquire and dispose a property' anywhere in the country
D.  Freedom to practice any trade or profession

806 3S" 3688 orses T2 $OM0 3% ANOR ?

A.  B30S D (oo’ sonar T o80T NID).

B. 800GSrodor roScine HSrITes 2508503 L.

C. PéSBHOS O Frodtos mand BHOS%H EOA %ol Jo>rAoT HBA

D. L)

Choose the correct answer : / 58&re 23200 JODE FAHoA -
(1) A, C &D only @) AB&C only
(3) B&Donly (4) A,B&D only

F
n“ B i e



Fundamental Rights. . .
| o anien't extend tO non-legislative

d. Article 17 has been implemented DY Protection of Civil Rights Act 1955.

2305e$ O SOrRS % 0220800 §08 JATLHOD A83O0N0R

2 ©oE8E0 15@4) S $OY0NS BB LHS VG0 BHEONO 371D 808 5000
5238 tAS ArEG50 TR 2300, ‘

b. |rgeDs IERO HOVOHOW o somrHEsdd &

S0 HFHO. : :
o ©ALER0 13(3) $HH00D TIVSS S eFTON orasomEEsed SBOTHC.

4 28 B HOGEE &0 1955 o SO° @OEG00 17 D FoH22HeEH08.
. ] HBOTS 220D )OS Sohoh:

oS3 D ©dEdeo 12 3308},

(1) b,c&donly (2) a&donly _F 5

(3) b&d Ollly (4) a, b,c& d B S '.

113. Examine the following statements with regard to Telangana State Panchayati Rgj Act, 20187':-}‘_;*

a. Roznamcha is a diary in which details of dead people are maintained.

b. The quorum for the Grama Sabha if voters are 3001 to 5000 s 300 members.

c. The eligibility age for office of Sarpanch is 21 years. |
with population exceeding 1500 but not exceeding 3000 is

Reyorred TR Docrons o7 90 2018 § $020800% D3EOD HOFOOIOR :
a. SO SO STV S35y Dok BO &'23:5:87) ®OH. '

L3001 &304 5000 S S0P (e $85 SBS 300 0O DFHE,

c. LTS HBIOW DG o8 S0H) 21 DO YT .
4 1500 23TrS oD HOAM 3000 BT 0TS

D (rvos sde Sops 11

(DATOW). .
Choose the correct answer. / O 237720 JONE VAo :
(1) b,c&donly @@ scé&donly

a & b only (4) c&donly

(3)

-
' ar T



114. The Grand banks and Dogger banks are famoys for

115.

(1) Deep water fisheries (2) Coral reefs

(3) Pearl fisheries (4) Shallow water fisheries
o8 238080 Bk Gl 27505en B (HE 7

1)  omes zerod ©HoB Tden

2) (D> Hedsen

(3)  Sebgsy DO HODOHOW Db )¢ K590
@) e zered ©HOoB DI

‘Milpa’, a type of cultivation in Mesoamerica is known as

(1) Plantation agriculture (2) Subsistence agriculture
(3) Shifting cultivation (4) Nomadic herding
~y FesRBS 7 ‘er) B A DOT 1k DO 7

(1) S S5SradOo (2) BITTS S ONO
(3) DTS éséiroﬁbo @) HHTER0

116. Which one among the following is not correct ?

117.

P11

(1) President of India without the consent of-the Governor can entrust any matter related to
executive power of the Union to the State Government.

(2) Governor can entrust conditionally any matter related to executive power of the State o
Government of India with its consent.

(3) President of India with the consent of the Governor can entrust any matter related to
executive power of the Union to the State Government.

(4) Governor unconditionally can entrust any matter related to executive power of the State to
Government of India with its consent,

1808 TS’ D0 5RO O 7

1) Bo DS SEINTETE BHSEMOS :)olo‘S)a'mQa* K388 ®Hhe
TR0 Tl 12508 550980 895 A0 T Y.

TR 19208 SEINT LT ©OTEMOS 2 DACHINTT HG)0 Sold (HEhed s

NSNS & 0" ABHOE ©H A0S SThHYD.

(3) PES (DS TGOS BATSIMOS D DACHANTT ORI, 5380
«m)zaé‘ O (2065 £500550 @D A0 ST Y.

@) TR DS SEINTErE wASENOS :)oadi)é»ﬁa' 199818 Badeor Sole

DS BB T8 DAL SO,

(2)

Which one among the following is pot true with regard to joint sitting of the Parliament ?

(1) ' In the absence of Deputy Chairman, the Chairman of Rajya Sabha presides over it.
(2) It is presided over by Speaker.

(3) In the absence of Speaker, Deputy Speaker presides over it.

(4) Inthe absence of Deputy Sepaker, Deputy Chairman of Rajya Sabha presides over it.
808 S’ PEDoES H0NE HITHFSNOE NOVOHOD JSOTDIA TAA.

(1) dqpses B0IS BAS', 07238092 BOIS &8 Saroth.

(2) @356 VPSS SorotHAD.

3) Q)8 BUS' Ayrged £)88 e9dgE & STroH.

@) A8 DYEE BAS' o'a;:()as A8 BB 9¢551é SO,

[s]




118. Match the following :
Llst = I LiSt - II

(a) Inter tropical convergence 1 Equatorial calm
zone
(b) Polar front i Sub-tropical calm
(c) Horse latitudes iii  Convergence of westerlies and
polar easterlies
(d) Doldrums iv  Convergence of N.E. & S.E.
trades
808 B BSOSO :
ader -1 ardor =11
(a) ®0o$d s8OS O i 2530258 DY AT°5S DOBO0
DB HOL®O
() &y &0 ii A& Hes0HS Bgr Qo5 DOBOO0

() ®I3ONOTY i 93)% ddTe ©dIG@0 HOA

'\

(d)

| DIT O NS0
Choose the correct answer/pairs : / OIS 233°200/28 SO DOHE TOHLO

a b C d
(1) iv 1 11 1
2) 1 i 1 1i
(3) 1 iv 1l i
» ! »e iii

4) 1 il Y
119. World’s deepest oceanic trench is
(1) Puerto Rico (2) Sunda (3) Tonga (4) Manana
D05 ©8 BMES S DL 0350 2O ? -
1) 8 off 2) o 3) &or 4) oy
120. Match the following :
List -1 List - 11

Wind erosion

(a) ‘V’ shaped valley i

(b) ‘U’ shaped valley ii  Karst topography
(c) Sink holes " iii  Glacial erosion
(d) Yardangs iv  River erosion
208 T8 BEIHBI0H :

- wder-I arDer - 11

(8) 'V 66y SoH i DI FEADo
(b) - U 656 S i ST PersHed
©) oSS, i SRR 1EE.oho




121.

122,

Examine the following statements on “Smart Cities Mission’ of India :
A. The mission was launched on August 15, 2015.

B. The mission aims at strengthening urbap Infrastructure and give a decent quality of life to
citizens. |

C.  Shillong, the capital city of Meghalaya has been selected as 100" Smart City of India in the
third week of June 2018.

D. The total proposed investment In the selected 100 cities under the ‘Smart Cities Mission’

would be T 2,05,018 crore.
Aol IAL IS ':qu 2588 AN’ MO0 808 I38erdy HOBDOBSOA -
A & DASS 15 & @i 2015 T [rsodocr .

B. 500 SO (@SPIT) QNOOFATOLD HEBR0 TONBO HOAEWM S
- TS B3R SO0 S AT Ty, SFFO.

C. 2018 28 T Srdhsd SO0 OS8B35y 100 S amf VBT DArecHh TEod

®BONS NEFOR NODE TADVB0L.

D. ‘W HSH AT 808 JodE Tohad 100 SHoS’ o & 2,05,018 Ee
EPDAQ |DBTOHOT .

Choose the correct answer : / QO BT DO oo :

(1) C&Donly (2) A,B &Conly

(3) B,C&Donly | 4) A,B & D only

Renowned social activist and founder of Sulabh International, Dr. Bindeshwar Pathak was
honoured in June 2018 with an award. Identify relevant statements from the following :

(A) He was awarded 23™ Nikkei Asia Prize of Japan.
(B) The ceremony was held in India.

(C) The ceremony was held in Tokyo.

(D) He was awarded 22" Nikkei Asia Prize of Japan.

(DOF5S B - PSSO  (social activist) 000D Dyeyss QA0LOTASS T,

ST OSTRES T, DOTE B B 28 2018 S’ 28 WD S HITIDOT . FOK
J020HONS SO JSrGrSo BenHod : '

D) 22 ATHOD BRSKT | 2325 LD BIS & & EBoT .
Choose the correct answer : / HOT/eS 233722 & JONE TOHOA :
(1) (B), (D) only | (2) (A), (B) only
(3) (©),(D)only . (4 (A),(C)only



123. Consider the following statements . | "
(A) Chinainducted its largest indigenously-built transport aircraft naInefl as Y-20.

(B) Pakistan successfully tested its laser guided missile named Barq.

Choose the correct answer !
(1) Both (A) and (B) are incorrect. (2) Only (A) is correct.
(3) Only (B) 1s correct. (4). Both (A) and (B) are correct.

208 D380 (0T ON) HOUDooL ! .
(A) T B¥0 ossod DY J 483 $05r8 JonB|ISHE ¥-20 A WD "&)@__‘ DTrA0N0S.
B) DTS DacHS0Sor HBL0NS Bab AP WSS 20y & O3 DA,

DTS 2377206 DODE TOHOH :
(1) (A) SO0 (B) BB HOPINS. 2)  (A) ST SOPO.
(3) (B) IS DOJIL. 4)  (A) B0 (B) Bodhr DO,

124. In June 2018 Kerala initiated ‘Water Literacy’ campaign to create awareness about the importance
of water conservation in the state. What are the correct statements from the following 7
(A) 70,000 students are involved. ~
(B) Every student will campaign for 15 families. |
(C) Approximately 10 lakh people will*be benefited knowing the importance of water,
prevention of water pollution. |
(D) It is mandatory in Kerala.
Choose the correct answer :
(1) (A), (B), (C), (D) | (2) (A), (B), (C)only
(3) (A), (C), (D) only 4) (B), (D)only
2578 2018 &' ‘De88 Ho20AODS BET NN’ (DTTR), (DSOS’ AE3 TE), (0P,
DB HCRHT TEDE B DACTOD BWITEFS DOFORONITNE B¢ (Daved $0
193528308, HAE 5020800 808 TS’ HOTS ASTFTTR), BN
(A) 70,000 008 dshen R0 S' ) K. |

(B) D Jor§ 15 Soe0reS &SI S8 SOATW.

(C) ST 10 ©FO 0B (DBED OPFOLHB. O T 50" A3 TNEY 1SS0S,
HE8 eI DT80N V'O BenE' NP, v

(D) T3¢ olR0S AR SH)N00 T,

SO 2357720 HOE TWALOA :

(1) (A), (B), (C), (D) (2) (A), (B), (C) Sr|eb3d

3) (A), (C), (D) (&3 4) (B), (D) Sr(e

125. Which of the following jurisdictions are enjoyed by the Supreme Court of India ?
(A) Original Jurisdictions (B)  Advisory Jurisdictions  (C) Appellate Jurisdictions
Choose the correct answer :
(1) (A)and (C)only (2) (A), (B)and (C)
(3) (A)and (B) only (4) (B)and (C) only
800 5SS HOHOS' rESTH DO FHPH 2 VST LD AT"L0W ?
(A) DA (BO) Ve ©PHSS HOS
B) POIOT) VOTE HOH *
€) NNOITTOR ©HSE HOG

35BS 235720 JODE FaHod -
(1) (A) DO (C) S (2) (A), (B) 8w (C).
(3) (A) DO (B) SM&$F (4) (B) 0005 (C) Sr(eb >

Pi1 | 5]



126. Which of the following statement/s is/are not correct ?

127.

128,

(A) India celebrates its ‘National Sports Day’ every year on 29" August.

(B) Dhyan Chand was the only hockey player who got Padma Bhushan.
(C) Arjuna Award is given for the best archers.

(D) Dronacharya Award is given for brilliance in sports coaching.
808 D38 (@0TOS )NOSTIR/D DA/D 7

(A) 2rESTHO 19 D0SSIE0 29 8P 278D Ea OS'E Y50 285500000,
(B) ©r¢SS08 551250 0BG 3% 34 |Ears k. *

C) ®ODS I FDD IS0 AL,

D) | Srords oD S SaRE Hed a .

Choose the correct answer : / QDA QailGTT'R) oaE TOHOA :
(1) (C)& (D) only (2) (A) & (B) only
3) (B) & (C)only 4) (C)only

Who has written the book “Conflicts of Interest: My journey through India’s Green Movement”
and who published it ?

(1) Ramesh Agarwal, published by PripticeHall |
(2)  Sunitha Narain, published by Penguin

(3) Salim Ali, published by Pearson

(4) Tulasi Gowda, published by McGraw Hill

‘TRORR) B 0B D 28) 185 ROATR 1A 0TS 00’ @.6) 300 HASWR), DK
SO 7 DEAD DB D80S ?

(1) DA @Ko° S SDOUM, |1D0ER S (HH8oD0A.
(2) VT TEONS BT, DOALS IITDB0N0A.
(3) GSowe HODH wd, DS E8 DOHBIS.

(4)  Sone or T, (e & Drard.

Which country will host the first military exercise of the BIMSTEC group focussing on counter
terrorism ? When 15 1t scheduled & what is the purpose ?

(1) Paklstan in Aug. 2018 in Peshawar; To promote harmony

(2) India; September 2018 in Pune; To promote strategic alignment among member states
(3) Bangladesh; September 2018 in Beijing; To promote peace

(4) India; June 2018 in Pune; To counter terrorism is the focus

» BH0 BIMSTEC £.9.0a0.00.3.2.0 290808 88H50 AN0A. BIMSTEC 229050 &3O

SNERNCIE] PR DTN0. A IO (DT Bciﬁoasc:b QRE0. o)) & DT"VO0
DS EFOHDDL0B ? AR SVP AFFO DN ?

(1) JEYSS; ©F5 2018 S DAIBS" HPIBD DOF0B O AT oA,

2) ROAXTS; VPoAKD 2018 S FITS' BOHDILD; DBTITe HSF Freres
DBAH0N DO OAOHEE BHBOTIDB0A.

(3) 2OTTAS; Do 2018 & HBOKS' 2HHHE0O; T0HY oS oBOHLE
AR 3000808.

@) R0ATS; ©F08 2018 S FS" AHTOR DB 5DOSA0A.




129, In May 2018, RBI

' ich f
put Dena Bank under ‘Prompt Corrective Action (PCA) which focuses on the

following aspects :
(A) Cannot sanction fresh loans
ruiting more staff

lender to face curbs under PCA _ .
o erso (Dena Bank) & B23&y g 23050 L#O?fagq %’i‘%ggﬁ)
¢ 586" &oDOR. & 1385 80d 4 girerd BOR B9 ,

sar aSiYos ST Sajotadod. -
Eg)) 2OIGE N0 02 BONIN),ENI0ES 2NETOWD 4 oied (D) TOHoD.

D) 5838 dardes B8 (o $0ES Airg S) 8o B &rgos T9e8 2DT S FOD.
Choose the correct answer : / fOTDN 28372060 oD TaHod :

(1) (B),(C), (D) only (2) (A), (B), (C)only

(3) (A),(©), (D) only (4) (A), (B) only

130. Indian Government launched ‘Gram Swaraj Abhiyan - Special Interventions’ an outreach

131.

P11

programme. Identify the correct statements from the following : |
(A) The outreach programme is to deliver welfare schemes to select villages.

(B) The objective is to see that social harmony reaches to the poor.

(C) Doubling the income of farmers. | +
(D) Itis applicable to every village and it should be implemented immediately.

2 8Seb (25065 30 “Tedd D0 BDOTS-20I)AS5 BOIBBIS)” OF 2.8 ©HE0S (oD
Br30D0N0A. HAE H00H0D 808 T3S NOTDS DATTTHoD Hdothod :

(A) & 83865 (S roe (SE5E5erH0en) ABFoDHDAS (TSre (FoHNID SFI0D
') DPZ0ON ®NNTONE. -

(B) &R P A0 IS AT YN0 DHOE TH.

(C) Bhe> ST OHOD & HHBE S0 Tasoe. .

D) 2O (DS TITVE AB0IDAB0E HBSS AR Heb 150 e TAsrd).

Choose the correct answer : / DO DAFETTR) DODE TWODHOA ;

(1) (A), (B), (C), (D) (2) (A), (C), (D) only
(3) (B), (D) only - (4) (A),(B), (C)only .
Examine the following statements about Gobar Dhan Yojana :

(A) The scheme was launched on April 30, 2018 in Karnal, Haryana. .
(B) The scheme aims to positively impact village cleanliness and generate wealth and energy

from cattle and organic waste.
(C) It also aims at creating new rural livelihood opportunities.
A28 S Girada 08 ©®o7ed H83Do50A :
(A)  FTOETS D 507 SS’ AHS 30, 2018 T S HSEO (FB0DOSDA0S, .
(B) T8 JODFSD (D750 tSTDS0SIenm; HHIen SHBAhH OAAD ST
DOA ROJGD, ROGS0 (3D e )& Tahiso & HPEo AFFor EPKH0A.
(C) TR ESSIOE A ©SSTOD HIR0T ©F 08 & Hev%o STATR Vo TA)
Choose the correct answer /B 235200 DONE TOHOA :
(1) (A)&(C)only 2) (A),(B) & (C)
(3) (A) & (B)only (4) (B) & (C) only

[S]




132. Examine the following statements :

134,

A. Gujarat Forensic Sciences University (GFSU), Gandhinagar is the first Indian university
dedicated to forensic and allied sciences.

It was established under public-private partnership.

J. M.Vyas is the Director General of the University. | o

The University was established through an Act passed by the Gujarat Legislative Assembly,

dated 30" September 2008.
E. However, it became functional from July 2010.

808 DIEEIOS (B0 O) HOFOD0HOA :
A BANE HBK @HD0L TITOH ©OSSDSDAS BELINGE 2rSS oD
N DT 0HT ‘H20°S B IE DTS 05rdN8)¢E, moSHE’.
B. (92065535 artirss0508 & DY (DT §eaDOo FROWDR08.
C. JM. 5% & DD o05rE BBED 22888 m arar) .
D. 2720285 30, 2008 & K207 TS H25S° £y TAhHho T J0° &8 ArdS0 Y8 Fra0m.
E.  o©ond 28 2010 08 & ardsd ) HAToHEBO (27800008
Choose the incorrect statements : / D85 DSBS DONE TWAVOA :
(1) A,B,C,D&E 2) A,B,C &E only
(3) A,C&Donly . (4) ,B & Eonly

onNuw

. Examine the following statements : |

(A) Total number of gold medals won by India in the 2018 Commonwealth Games is 26.
(B) Polish author Olga Tokarczuk awarded ‘Man Booker International Prize 2018°.
(C) Total number of medals won by India in 2018 Commonwealth Games is 64.

(D) Pellichupulu won the best Telugu film award under regional category in the 65" National
Film Awards.

808 ®o0FTOD HBZOoLoM :

(A) 2018 5P Lgée,s,‘ 25T 30 [0S0 26 DO NHTEeD TeNtHToA.
(B) &Bo& Sthowed oS 487 SEDIFH ‘SrSensd @osSTRH e 2018’

@0NTOHVH0A.
(€ 2018 50T 38 (84S arSSB50 B0 64 DTS ReTHTOB. )
@) 65 S JAIS D8 ®TPNS' (@o8H JartoS DY) ArHen' VL0 WSS
WSO ) FenthHfod. '
Choose the correct answer : / DB 2355°2009 0DE IHoA -
(1) (A) & D) only (2) (A) & (B) only
- (3) (B) &(C)only (4) (C) & (D) only

Examine the following statements :

(A)  Roger Federer, tennis player, reached the men’s world number one ATP ot :
after winning his 98™ career singles title in May 2018. | o b

(B)  He defeated Rafael Nadal in the Stuttgart open final held in May 2018.

- (C) 36 years old (As on May 2018) Federer born at Basel, Switzerland.

808 DIV (BOFTD) HBIDNOA -

(&) BN STTES Eab DAO0 &S 98 S SEE HoAS

Rendhsd, BRRS' Hine 50 Sonb 1 ATP o Sog&‘gg.%‘i’wi 2018 &
B) 32018 200 YHT 28 IS S5 DS ST DESE 5. Aoty
(©) 736 SOISIT°O (3D, 2018 ¢38) DAHEE DILTOBS'D 272y SeS' s :
Choose the correct answer : / SO 837206 ODE FOHOA - 2
(1)  (A), (B) & (C) 2 (&) & B) only

B










140. On 14'1! June 2018 WhO became the first cver Inchan batsman tO SCOre a century 1n the first

0] f whom 7
ion of the test matches and.]omed ranks O m° | -
zﬁSlonMurali Vijay - joined Chive Lyod, Gundappa Vishwanath and Sir pDon Bdl'ﬂbdalgid e
(2)  Virat Kohli - joined Sir Don Bradman, Victor Trumper, Majid KN 0 o0 e Parig
(3)  Shikhar Dhawan - joined Sir Don Bradman, Victor Trumper, Charles ,
arner

DS Forth 7 30 DO ? #

(1) S50 D3cD T, 8D TOS erder : 35 erchB, HOBD) ¥ $T® DO
N0 o (28D,

2) Do i B, 2D I8 TS 12rB0S, DEB L0585, A8 7S HOAW o FAle
358 DeS Toh, | - il

3) 208 T3S T3, add ToS 2 Dw : 15 g-a La-?%oes, DE0 (L2020, TR
5PN (Charles Macartney), A3 7w SO0 TS 50).0.

@ 5 8. oS T, 2SN TS D : KBS ErSHS, IS BB HOA
DS B3, 8. - -

141. Examine the following statements about the 'National Commission for Protection of Child Rights
(NCPCR) of India:

A. It was set up in March 2017 under the 'Commissions for Protection of Child Rights (CPCR)
' Act, 2015'. '

B. Itis a constitutional body.

C. The chairman of the commission is Stuti Narain Kacker.
- D. The child is defined as a person in the age group of 0-18 years.

ESTHY ‘oo O 850 §H0 raoh 1S’ (NCPCR) HB0D 808 DIBDOD
D8ZD0N0H ;

A. ‘é.ro E0 S5 800 $AY 940, 2015’ errdor Sr8) 2017 & BAR JT°IED
. -

B. 28 2.8 ov2rsol NOogy. i o

C. & EDANZ Ve o oDEY 858 BB &) K. |

D. 00048 18 N0 YT NS o) S5O 2reen (DT S LD0SDA0A.

Choose the correct answer : / Q0TS 220D JODE Tohod: .

(1) B,C&Donly (2) A & Bonly

3) C&Donly 4) A,B&Donly

2018 Padma Vibushan recepients from among the following are :
(A)  Gulam Mustafa Khan (B) A.Revati

(C) Sri Krishna
(D) P. Parameswaran (E) Justice S.M. Sikri (F) Illaiyaraja
(G) Fatima Sultana
808 8S" 2018 H5¢5) DESFAS ((FEresen D5 ? . -
(A) ;bvg 3?;%?6. o (B) A. DS © 218
(D) P.d0ds (E) 2% SM. |8 o
G) DBIP SHrery > F) a¢does |

Choose the correct answer : / & QDS T2 DONE TAHOA :
(1) A,D&Fonly ‘/36 (2) A,CE&Gonly
—~ (3) B,D&F only (4)- A,B,C,E&Fonly

PL1 = - [s] ; 46-D




143. Examine the following statements regarding New Development Bank (NDB) :
| (A) China holds the maximum number of shares in the bank.
(B) The bank has no African nation as a member.
(C) The headquarter of the bank is located at Shanghai. )
38 BIODHROES 2750505 HOV0HOD 808 DS5EO (WOFTVD) H83D ook :

(A)  2r50%eS T BF¥0 KO VoSS aeren §OH FOb.

(B) @55 Domd8 J000H0DS B0 ariodHeS DEDIT D S,
(€) . 25050 Ty, NS TS0 aroS God.

Choose the correct answer : /&’)O@)&’) 23572000 DODE TONOG

(1)  (A) & (C)only ' (2) (A)only

(3) . (C) only (4) (B) & (C)only

. Examine the following statements :
(A) Norway tops in the Global Democracy Index 2017.
(B) Sri Lanka banned import of non-airbag equipped vehicles from July 1, 2018.
(C) India built the world’s largest thermal solar plant.
(D) China sets 2018 GDP target at around 8.5%.

808 DSB8 (©OFTOD) D8ZO0B0H : .
(A) ®OSTSAH (D50 ArDE 2017 (DSBS 0,8 (9D FrdoeS’ &od.
~(B) B 1, 2018 D0 0¥ dAE zrghien B THTTOD OHDS TFIET)
B0, |
©) |IDV0WOS’ B PGS Ferd OtV 2TESTIO AO0008.
(D) 2018 HON$IB0S” TBR® 8.5% 28.8.9.0 FAOTOD O I20A.
Choose the correct answer : / QO 2363720/ DODE ToHoA -
(1) (A) & (D) only (2) (A) & (B) only
(3). B)&(C)only 4) (C) & (D) only

145. Which of the following statements are correct ?

(A) Anjolie Ela Menon was awarded ‘Kalidas Samman’ for Visual Arts by Madhya Pradesh.
(B) The Council of Scientific and Industrial Research (CSIR) was awarded National

S08 RS 5DAS ®OFTOS’ HBID D) ?

(A)  DSSITT H20e5 0 oS
NI’ BTPD DTTEE0DN0S. |

B) SN0 58 DOIDE 38050 Do RAHES 88 (CSIR
DY’ 2018 I PN FoR0A. )

©) 658 BAIS D88 0 HS’ @by S8 ©TH Ads DDETT Fodod.
D) GIAr 0B ToODHHSHT

NIEYSE T8 AOD0S,
Choose the correct answer : / SO 2208 JoDE Do -
(1) (A) & (D)only | (2) (A) & (B) only
(3)  (B) & (C)only @ (C)&(D)only




1 o _be milluw hand of a clock are
46. The tme

perpendiculart
2§ KAOrdoS 7:00 08 730 DS dore swew, H0NC SR AR
0201 GO OO |
(1) 7:21'{9'1‘ (2) 7:21%%
8 8
@) T2 , (4) 72177
147. The next term in‘the series : 3, 6, 18, 90, 630,
#c53,6,18,90,630, S’ ST HAID
(1) 3970 (2) 6930
(3) 5670 (4) 6670

. Given that 25" April, 2012 was a Wednesday. Now, match the days of the week given in List —
II to the dates of that year given in List—1:

List -1 List - 11
(i) 29" June (a) Sunday
i) 15™ January (b) Monday
(iii) 11™ December (¢) Tuesday
(iv) 25" October @~ (d) Wednesday
(e) Thursday
(f)- Fnday

(g) - Saturday

2012 & HONSIBO0 ADANS 258 BE PTE0 B ATIN. A, & 0S5 Y50
;DT -1 S DS BOOS' 3D ¥ T 2De -1 & 2$TOHoA.

arder -1 Do -11
(i) 2™n29 ' (a) alHIOO0
(ii)) 230 15 (b) FRTS0
(iii)) Ao 11 (c) DoKFETO0
(iv) ®S2& 25 d) 208580
‘(&) HHaTdo
6 DHEIS0
(g) FQNT°O

The correct matching is :/ &')6@:6 S
(i) @) (D) - (v)

(1 f a c e
(2) d e b a
(3) b a cC - e
4 c e d f

M1 G



149.

151.

Note : In questions 149 to 152, you find a question (Q) followed by two statements (S, and S,).
You have to determine whether S, and S, can answer Q. Mark your choice as

(1)
(2)
3)
(4)

if S| alone is sufficient to answer Q.
if S, alone is sufficient to answer Q.

if S, and S, together only can answer Q but neither S, nor S, alone can answer Q.
if §, and S, together also cannot answer Q and additional information is needed to answer Q .'

BISS @ 1D¥1e0 149 0S8 152 ©S° H& 2.8 (HF) (Q) T Jok Bocd (DT D (S,
2805 S,) BrGS). & S;, S, © oD Q § JITERO o208 SNITI>® ©D L
ATB0TTE. Q & HIFGTI0 AN JETVS

(1)

(2)

(3)
(4)

S, 28T HOHB D B2 (1) &R,

S, 28 HOHS 5 220 (2) ®R.

S, 5, &0 Dodr §O H0Fr, >SS’ D 2,8 &8 S| DO HHOD) 2 BT (3) B
S, S, & Bo QDT O Fod BAOJY AT T ENINB0 oS, D B2 (4)
@ HBowrd. ‘

Q : What is the average of a,, a5, a3, 34 andag? -1
S,:8a a,, a4, 3, and ag are consecutive integers.
S,:a5= 100. |

Q:ay,a,,a, 8, as DT*OO N0Oed ?

S;:ay,a,, a4, 28, a5 G T OS*eN.

. Q:Is xy=uv?

S]:(x%ofu)=(y%ofv)
Szz(y%ofu)=(v%ofx)

Q : xy = uv @Yo ?
Slz(ué‘x%)=(v Sy%)

Sz:(uCS‘y%)=(x65‘ v %)

Q : How much money is there in the bag which solely contains 50 bs, 1 rupee coins ?
S, : Total number of coins is 521.

S, : Twice the number of 50 ps coins exceeds that of 1 rupee coins by 127.

Q: 50 DI, 2.8 SFroN T Srehad DS 2.8 NONS' BSDoed ?
S, : IS0 TE® dogs 521.

S, 150 DO TBO Hog§Ed BEF0y, Sraron DB DOPS Ed) 127 DB,

Q : For integers ‘a’ and ‘b’ is a + b an even integer ?
S, :aiseven.

S, : bis amultipleof 6.
Q: sygrosten ‘a’, ‘b’ ©50 a+b 2.8 QBF T O8N ?
5 120 Qo

S, : b @O 6 T8 Hedeso.

S ]



. . - of vehicl
table which gives the production of tWO typ“153 o 1 5%."3 by an

ears. Use this to answer the questions,n v
Son Aredyed T 5355 350 & :m:; %‘g:g?;' §C5°
$ DT BOD (§0d HEED e - O

TS A 160 |36 log 1 [161
———— e 254 [i8s [112 162 [184

“umber vehicles of type A produced to that of type B in all
50 OO

(4)

ey
8o

the five years 18
HOPLET KO AN )
T1:8

5E0 TETO HoPS
(1) 18

 The total number of vehicles produced by the company in the year 2015 18
2015 3 50383508 £0DR &8 )B THS IS0 THTL DOPS

(1) 35,500 (2) 31,000 (3) 20,800 4) 31,400
By what percent the vehicles of type B produced are more than the vehicles of type A in 2014‘/
2014 & &&18 sand B 550 TR Hops &F HoI$ 008" a8 eond A 050

TETTO DOPLSO Joé TS0 D™ 7 K
(1) 17 @& 318 @ 1§

The average weight of three persons P, Q and R is 52 kg. The average weight of P and Q is 45 kg
and the average weight of Q and R is 48 kg. Then, the weight of Qis (inkg.)

SMHS Sgen P, Q H8a5 R © Hifed 228y 52 &S (rdnen. P 30 Q © e
28363 45 86" ranen. Q HBAH R © diféw 8dey 48 85 Irrdnen. e, Q )
285539 (8S° |rsned)) -
(1) 48 (2) 30 (3) 36 4) 44
A train travelled at an average.speed of 100 km/hr, stopping for 2 minutes after every 75 km. The
distance travelled by the train is 750 km. The time that the train takes to travel this distance is

(1) 7 hours 12 minutes (2) 7 hours 48 minutes

(3) 7 hours 26 minutes (4) 7 hours 10 minutes

2,8 De Hiiew o 1HB Koty 100 8.2, (HAFSY, 1HS 75 8. Grdo Sokh Body
DMHASED SHSH0d. 8 Ben o 750 8. GrdSw (HoSrSNod. & Grdo

HOSFBOBEOE & Den S080) DSOS

(3) 2173 - (4) 1971'5

(1) 7860.12Q. | (2) 7850.48 Q.

(3) 760.26R. @) 17850.10 .

On 8% February 2018, it was a Thursday. Then, what was the day on 8" February 2017 ?
(1) Friday (2) Tuesday (3)° Wednesday (4) Thursday

8 22250 2018 &S HETBEN) GONSD 85I, 8 (2358 2017 &S ®onS &z
(1) HETESD (2) HosETESD (3) a»éa';ﬁn @) BSHTEIN

[S]




E ™
160 In a code language BHARAT is Written a GZi75y; and INDIAN as MZRWMR. Then, the code

' of POLICE in that language 18
2§ €8 orad' BHARAT ® GZIZSY o, %805 INDIAN O MZRWMR P (TAD.

©H% @ rnd POLICE By ¥4
(1) VXROLK (20 KLORXV — (3) VRXOLK (4)

161. In acode UFBDIFS

2.8 88 2708 UFBDIF |
(1) QRAESU 2) QSBOFU  (3) QBSFOU

Note : In questions numbered 162 to 1_65' you find a pair of words or numbers or letters or a
combination of these which have a relation between them and a word of another pair. Identifying

the relation between the words 1n the first pair, you have to pick up, among the four options, a
word which has the same relation as in the first pair with the word given in the second pair.
(PSS : 162 oS 165 O 50 IO 2.8 HooBo &S 28 RS DT, [o}:
Sopen BE wioen B8 28 )88 57AS 2aen, eI HBE 2é SR 2.8 HOO
STGHSITH). DNGE BSHO DE§ DOVOT), HBOD, 308 28 ANIS HTV8 o8
502050 BOS HITR) BDIA TV DVIF HOW 2.5 TR A0NE TATO.

162. 20:21:: ' N

(1) M- 2) Q
3) P | 4) O
163. RED FORT : DELHI : : ROCK GARDEN: ‘
(1) BENGALURU (2) AGRA
(3) CHANDIGARH | (4 CHICAGO
ST AD oS RS
1) Bortrd (@) e
(3) oA @) Hef
164. AXE : WOOD :: SCISSORS :
(1) IRON (2) PENCIL
(3) CLOTH (4) PLASTIC
RO : 3T, :: 5§86 :
(1) QA - () R
() 2% @) TS
165, DOCTOR : DISEASE : : SHERIFF :
(1) MURDER ~ (2) THEFT
(3) CRIME (4) DUAL WAR
S : S0 1 nlD :
(1) S .- (2) Soniédo
3) Vo (4) 508 ANRO

P11.

-










the following statements are correct ?

(A) B.S.Narayand Rao directed the film Nimajjanam.

(B) Shyam Benega.l was the producer of Nishanth.
Oka Oornl Katha cinema was directed by Mrunal Sen.

i ci as directed by B. Narsinga Rao.

808 IS DS DHISTSD ?

(A) * DAV TOOHD TR NHBS0 VRS S8 Bo.
(B) Qrod 8,033 VoS TO 2.

©) 28 B0 &6 DS BEIE WIS VS,

D) s 4Py HAST $85 D. S8 T,

(1) (B)&D) Q@ @&E©

3 W®&O e we®

174. Match the following :
List -1

(b) i
(c) il
(d) A
The correct match is : / HOTS 2368

@ ® © @
(1) iv i E B
1 v i 1

i v i i1

1 i i iv




175, Match the following
' (Temples) (Places)
(@) Keshavaneni Temple i Gangapuram
(b) Taraka Brahma Temple i Alampur
(¢) Sitaramaswamy Temple iii  Dichpalle
(d) Ramalingeswara Temple iv  Nandi Kandi
1808 ¢3Q BSHSTD.

(BOaHSVEV) , (DOTI¥ Snen)
@) TS IV eaDH® i Homrsydsm
(b)y @58 Laai’rz TTSTONINAY i 0030
€) T TR SOV i ANHY
iv Qo8 Sod

d) THOoMH 58 ese 0D
The correct match is : / SETDS 268 :
@ ® @ @

'“"!'!
i "'-T-‘ -‘

(1) 1 i iv il

(2) i @i iv ¢ il

(3) i i iii iV

4) i i 1v 1

- 176. Match the following : _
 List-I List - II
@) Ikat i A dance form
(b) - Teez ii  Festival of a tribe

(c) Paya iii =~ Technical knowledge of colour printing on cloth
(d) Perini iv A special dish/soup of Hyderabad '

1808 D BSHBE,
- e -1 e -11
; -~ (a) RES i 28 Nyeds S0

&5 i 2.8 NOBS B Dokl

€) JrodH i OO JohHen of Jros8s HOFo
d) DOS v RO TodS 8 L.)35§ S0&%0
The correct match is : / OTDS 23 :

@ ® . @

1) i iv iii cii
2 iv i i i
3) i i i iv
@) i '

¢
L] r.. -
. (D)




(3 iv i i i
4) 1 T || R \

. Consider the following statements and select the correct answer :
(A) During Satavahana rule agriculture was the main source of the jncome.
(B) Half of the agriculture produce was collected as land tax.

(C)  Early Satavahanas followed Vedic religion.

(D) The later Satavahanas patronized Buddhism. -
806 TR0 H8ID0D HBS DSTETHSND EFDID : -
(A) TETTOOPLOS IS 00 BLFOPS (DETS 8rSo.
(B) 5D &&)88 Hio Zrd FYM Siren T,
©) SOTETTIN FBE H=) ©HHB0TE.

4) (A), (C) & (D)




, Identify the correct pair :

= " (1) Chitrasala — Machaladevyi

Y (2) Ramappa Temple — Rudrambg
(3) Thousand Pillar Temple - Ganapatideya
(4) Padmakshi Temple — Rudreshwara
HDS 288 HGOI0N :

(1) Q&7
Q) THH) BarONO
3)  Jow Qozre HE
4) Hl Toreood

- “Match the following :

List =1
(a) Motupalli Inscription i
(b) Chandupatla Inscription ii
(c) Nitisara 111
(d) Andhrabhasha bhushanam 1v
(800 TR B3SDEHS 1
¥ Do -1
@) DENDD TS0 i
(b) HONDEL FONO ii
€) &880 iii
(d) &0|E ZTar Z°E0 v
@ ® (© @
() i i i iv
2 1 i il iv
(3) iii iv il i
@) iv iii i i

182. Consider the following statements with regard to Kakatiyas and select the correct answer :
(A) Agriculture was the main profession during Kakatiya rule.
(B) Forests cleared and new areas were brought under cultivation.
. (C) Land Revenue was collected both in cash and kind.
(D) Irrigation was not given importance. |

SES 0O DODOHOD (80O T LT O HB2O0D DB DTG ST
(A) SEBON® SO0S SLSTONO (DTS 98

B) ©3IOD S08 SréhS |Fromed S’ ST ).
(C) 257D BNE &S, Gy Erdes Saren Tahso 28hod.
D) e FHEOI (S0P sed RS SBEN.

(1) (A),(B),(C) & (D) (2) (A)only

3) (A)&(B) ' 4 (A),(B)&(©)

P11 ' @



List -1l

{ Movva
1 Kohinoor
il Mir Momin As

iv Dasarathi Satakam

der-11 :
RS R
i Sardsrd -
i 8 S ol
d) iv O $e50
The correct match is / DO 8 '
@ ® (© (§)

(1) i 1 i\ 1

(2) i1 m .. g

3) i i i v B |

4). i i 1 '\ | Fa
W

(C) Mohammad Qutubsha
808 8D SrOEH0S DEIEW ;

(A) B0 Solar

B) o HOBL

(C)  DdrsnB SodoSar (D) 23028
(1) D) (A), B), () 2) (A),D)©).®
3) (A, (©)®) D) 4 @) (), )@

. Consider the following statements with regard to Qutubshahis and select the correct answer .
(A) According to Tavernier there were twenty thousand prostlmtes mHyderabad city.
(B) Land Revenue collection was auctioned. 3

(C) The Puranapul was a model for a bridge in London.
(D) Abul Hasan Tanasha granted three villages to Rama temple at Bhadrachalam.

05 o So00800 (800 TIFTITOD :w%boa DBS  DATETSS0D
S0

(A) - 38008 (580 g-cso-es-csa &SﬁdoeS‘ 2S00 J000d Fisen eoBT .
(B) 25 3 SAren Foo IR
(C) ©0&S S 28 083K og)cm'qyé 2,8 ST

(D)
1) (A), (B)&(D) 2) (A)&(B)
3 @B&(©) 4) (A),B)&(©)
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, §6. Match the foliowing -

List -1 List - II
(a) Aghornath Chattopadhyay i Gloria High School
. (b) AfsarJung Bahadur 11 Madrasa-i-Ailiyas
(c) Salar JungI il Asafia High School
(d) Syed Hussain Bilgrami IV Madrasa-i-Aizza
1208 TR 23SHBTDAW
o -1
(a) &rETE DO T IO i
b) @B 2ol 23D i
©) 28&S a-o-cs 2300 iii
d)  DODYS FVRI® DT iv

The correct match is : / O B :
@ ® (@ @

(1) 1 i dii 1V
(2) 1 iii i 1V
3 i iv i i T
(4) i i iV 111

Which one of the following statements is NOT correct ?

(1) The Northern Circars were handed over to the French in 1753 by Salabath Jung.
(2)  After the death of Nizam-ul-Mulk Asaf Jah his son Nasir Jung became the ruler.

. . (3) Muzafar Jung gave the title ‘Nawab Zafar Jung” to the French Governor Dupleix.
& (4) Muzafar Jung was killed by Arcot Nawab Anwar-ud-din.

808 [HIBSINOS DA DO 5°¢d ?
(1) 1753 50561806 Hernd 208 A HT)HO& DODTO8 ©HIBD

Q) A0 &S NG AP B DGETI0SE0 BAHA F0rSCH 20 2300 c'asau,sa‘n.
R, 3) S02HB 208 (0D K38 B0V LI “Od 27D 280K” 8d) DEED (DTS
- T,

4) 0BHG BOBD BT, a2, B LS VO D.

188, Identify the following statements which is not correct ?
~ (1) Raja Bahadur Venkat Rama Reddy was the Police Commissioner of Hyderabad.

(2) Ali Nawaz Jung was the Chief Engineer during the reign of Nizam Ali Khan.

(3) ~ Basheer-ud-Daula was the minister for law during Mahaboob Ali Pasha reign.

(4)  Salar Jung Museum was opened to the public on 16 December 1951 by Pandit Jawahar Lal
Nehru.

808 3¢8eS" DO 1DSTISSND HKr0tradm ;

(1) T2 oELTITBP 2o ered MO EDASET DT .
2) O 3o 208 dzro 8O S o 0o 1HVY RoBH.

3) S eOFr Fod rood DOE-GE-Ter TI0HTD oS,

4) Rrerd zoh Wr§BoHOD 16 BR0DH 1951 & HoASE BITBrS JIVT* (D3
NOAEITQO (" E0HOT . N
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List - II
Revenue Contractor

Revenue Collector
Civil and Criminal Administraﬂ"“

Eccliastical Department

OQASTs ESEHD
2308 805 SIS HOTOD

DBES Dy TR

(d) ' iv  King Kothi
1508 &R 2ZSD0THA
ador -1
(a) 5 5- ey d5- s i O TIO
b) S8 gre i HOS S BN
c) rerbzoffi-I i O B
d)  DTArh 8O P iv 8of%8

The correct match is : / QO 23€5 :
@ ® (@ @

(1) iv 1 i ii1

(2) il 1v i 1i

(3) 1v 11 iii 1

(4) _ii iv il i
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191, When did the Nizam government lift the ban on Hyderabad State Congress
(1) July 1946 (2) February 1946
(3) March 1946 (4) June 1946
2TBTrE S STORR0 DDA, VAT, Jero (H20e S0 DI ID SO0 ?
(1) 2781946 (2) (D050 1946
(3) a"8) 1946 (4) 27 1946

192. Quazi Abdul Ghaffar, who reported the Indian government about the massactc in Hyderaba
State after police action, worked with which of the following newspapers ?

(1) Hyderabad Chronicle (2) Payyam
(3) Raiyyat (4) Imroz

TETTED HES FOD B85 ©S0S80 28RS IrGLWTST), rES (HEOE
BOCHEDS J72 S Kb DB} 1806 D HAES' HAZ DT ?

(1) T ooerd 578D (2) A
(3) BOHS ' @) BRrs

193. Mahalga Bai Chanda was a famous court dancer of which Nizam ?
-~ _

(1) Osman Ali Khan (2) Nizam Ali Khan

(3) Nizam Afzal ud daulah (4) Mir Mahboob Ali Khan
5 D250 500 LHIFSS O PO T2 SO HOTE ?

1) &S sd S (2) 0 VOIS

- (3) o S &l Ter 4) DB HFards ed psS

194 On which date the “Telangana Sayuda Porata Committee”™ withdrew its armed struggle ?
(1) 20" January, 1951 (2) 15" December, 1950
(3) 21% October, 1951 (4) 4™ August, 1951 _
“FBEeYOTPED PO T E) ZE3” 8 AN FTHETRV), o BAD DBOHTV0H ?
(1) 2023830, 1951 . 2) 15 &0, 1950

3) 21 %%, 1951 4) 4 &8, 1951 -
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- 7 March 1969
- 1 May 1969
- 22 April 1969
— 12 July 1969

- 13 1969
- 22 QS 1969
- 122378 1969 S

ovement in Telangana ?

e tatement is not COITeCt r ' '
196. Which one of the § egarding Boodhan procession and also held a

(1) To support Boodhan movement, the students organized

meeting at V.V. College on February 6™ 1956. & ‘
(2) Acharya Vinoba Bhave started this movement and «tarted his tour of Telangana from ,

Shivarampally village on 1951, April 15", |
(3) To distribute the gift land collected under Boodhan moveme
an association called’ ‘Boodhan Yagna Samithi’ and Umme

appointed as its Convener.
(4) The second trip of Vinoba Bhave started in 1954 from

1208 (HISTOS’ BOOMES FFTS AredsSrdS 50200500 ROSRO DCE ?
(1) 200 &S5STV8 HPST (2358, 6, 1956 & DersPen DA 202 ..
oA e3580S" 280l DD NS ST OTTE. - ~
) & GBS smds dSTrE (EoHomrd, 15 ADS 1951 & B 3507059
. 3508 BOOME DS [rSodord.
(3) BT BSEN0 G0 DEGODS Frd ardo Thdodsy Frere o SHT

T 50D TN B TFLTYD EQ IO DHODAOTI .
@) DSrrE BOGS ZrorS Bedss Oir(e 90 AT TR ATBO 0oLy 1954 S
S0 0T . ' _

97. Assertion (A) : A gentlemen’s agreement was signed between Telangana leaders and Andhra
leaders in February 1956 to merge Telangana and Andhra.

Reason (R) : Accepting the merger proposals, Andhra Assembly passed a resolution on
November 25, 1954 to safeguard the interests of Telangana.
The correct answer 1s : | , |
(1) (A)is false, but (R) is true.
(2) Both (A) and (R) are true. (R) is the correct explanation for (A).
(3) Both (A) and (R) are true. (R) is not the correct explanation of (A).
(4) (A)is true, but (R) is false. |
HDOFES (A) : 1956 S D238’ Boorn, 8o [Fosdsnod dddo Tobas
Bo (romre> TOHHVEN DS 2.8 DR DO’ 200N HHB0A.
$5®0 R) : DS (HADTHOD ©OASO BoG TR TS I 1954 H0:5I50
5S5028) 258 BOOME |H2B BIIT O $ib S50 KO)0STAE om0 0d.
QOQN D0 : |

1) (A) 85p5, (R) Qzadw.

() (A) S8 (R) Bodsr Dzsw. (R), (A) % 5B Ddde.
(3)  (A) 80K (R) Bodks Dz, (R), (A) K $BS D886 ¢,

(4 (A)B5 D, R) S
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thala Keshava Rao was




198, Match the following persons with the places of thej « ot
' List - I1

(a) i Shastri Bhavap, New Delhi

(b) it Ambedkar Statue, B Nagar

(c) 111 O.U. Cal'npus

(d) Ishan Reddy iv.  N.C.C. Gate

808 &8 HE), 3% ©HEBS SRS 2858550
Do -1 Do - 11

(@ ordBY - i TRISIS, Srsad

(b) 30 O i @050 Do, AB.LD). K8
() oSr&sodHs - - iii 2.0, 500

?

(@ xS OP v ABDR.AS
The correct match is : / DOTO® 23¢h :
@y ®), @ (@ -
() iv- i i il ' .
) i iii  iv i
B i i iv iii

(3) 4) 1970
200. Match the following authors with the books they wrote :
33 List - I List-1T
(a) | i Telangana Jaitra Yatra -
(b) 11 Pranahita |
(c) : i  Salam Hyderabad
- (d) P.Lokeshwar Iv.  Thangeti Poolu
SO0 StSoneen, T8 BSOS 2385545,
DS -1 2D - I
(a) ©VOITADHR 1 S00rre Bleb osr|e
(b)  OEF WYEJred~ 1 | Dedres
© . T2 i Sero ;soered
d) D.STEE v Sories Jyren
The correct match is : / SOTDS 23¢h -
@ ® @© (@ .
(1) 3§ o iv i
(2) ii i v i
3) i i 1\
@ v i i
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